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1 1 31.02.04 4 MO -41 10 0j]o|o0|8[8]|8 11 08| x| x|x|x|A|A[A[A|m]|m
2 | 31.02.05 1 JCTO-1ly 17 = 21 0 8 ==|=|=|=
3 1 JCTO - 12y 17 =|= 21 0 8 =l=|=|=
4 2 JCTO-2ly I 0]18|8(8(8|8|=|= 15 0188888 |A[A]|II
5§ 31.02.06 1 |CT-11 17 == 24 =[=|= =
6 1 JCT-11V 17 =|= 21 olo|o|=|=|=|=|=|= =
7 1 JCTY-11 12 0]0|10(0[8|=|= 17 0[0(8[8|8|8|8|=|=|=|=|=|=|=|=|=
8 2 |CT-2ly 15 i 8 == 12 20 88| x| x| x|x|A] AN
9§ 34.02.01 1 JCO-11 17 =|= 24 =[=|=|=|=|=|=|=|=
10 1 JCO-1ly 13 0ojo[8]|8|=|= 21 0jof 8|=|=|=|=|=|=|=|=|=
11} 38.02.01 2 |bY-2ly 14 0|18|8(=|= 11 088 x|x|x|x|A[I]A|A]|IIIII
12 3 |BY-3I 14 018|8(=|= 11 01 8[8] x| x|x|x|A[I]A]A|IIIIT
131 38.02.03 1 [OO-11 17 == 24 =|=|=|=|=|=|=|=|=
14 1 JOO-1ly 17 =|=| |22 0 8|=|=|=|=|=|=|=|=
5 2 |O1- 21 17 == 22 0ls8l=|=|=|=l=|=|=|=|=
16 2 10O-2ly 13 210|188 )|=|= 9 {01088 x| x| x| x| A|A|A| AT
17 3 101- 31 13 j1018|8|=|= 9 10088 x| x| x|x|A|A|A]A[II
184 38.02.04 1 [K-11 17 =|= 22 wl ) =l=l=|=]l=l=|=|=
19 1 JK-11V 17 =|= 17 :]010|8|8|8|8|=|=|=|=|=]|=|=]|=
20 2 |k-21 17 == |7 | [=]olo]s8]s]8]s]=][=]=][=][=]=]=]=
21 2 JK-2ly 16 n=|= 9 00|88 x| x|x|[x|[A|A]A]A|II|II
22 3 |K-31 16 == 9 210088 x| x| x|x|[A[A[A]|A|II|II
23] 40.02.01 1 JIIP-11 17 =|= 22 wif vl =l=l=l=sl = =l=] ==
24 1 |[IP- 11y 17 =|=| |21 o o]|=|=l==|=|=|=|=|=
25 2 |IP-21 17 =|= 21 olo
26 2 P -2ly 14 010f=|= 9 88|88 x|x|x|x[A|A|A]|A|IIII
27 3 JITP - 31 14 010(=[= 9 81888 x| x|x|x|[A[A|A]|A|IIIII
280 43.02.04] 4 |13 -41 11 8|8 |=[=| |9 81888 x| x|x|x|A[A|A]A[HII
29 4 > -42 11 8 =|= 9 88|88 x|x|x|x|A[A[A]A|IIII
30 4 I3 -43 11 8 =|= 9 81888 x|x|x|x|A[A|A]|A|III
314 43.02.10 2 JT-2ly 16 == 5 81888 x|x|x|x|A[A[A]|A]|IIII
32 3 IT=31 16 == 5 81888 x|x|x|x|A[A]A[A|IIfII
331 43.02.12 2 Oy -21 17 == 20 0(0 8
34 2 TV -2ly 15 0| 8|=|= 16 olols 8!8 =|=|=|=|=|=|=|=|=
35 3 IOV -31 15 0)8|=|= 16 0108 818 =|=|=|=|=|=]|=|=
36 3 [Ty -32 15 0| 8|=|= 16 0108 818 =|=]|=|=|=|=|=|=
37 3 |ToV-3ly 10 8!18(8(8[8|8|8|=|= 8 81818888 x|x|x|x|AIA[A|IINIII
38 43.02.17 1 JTUK-11 17 =|= 24 =|l=|=|=|=|=|=|=|=
39 | JTHK- 12 17 =|= 24 =|=|=|=|=|=|=|=
40 1 JTUK-11VY 17 = |= 22 olol=l=l=l=l=l=l=l=I=
O003HaYeHus: Teoperuueckoe [TpaxTuka [TpoussoacTBeHHas [TpousBoacTBeHHas [TpomexyTouHast ["ocyaapcTBeHH [Toaroroska k Kanukyibl

00yueHHe yueOHas NpaKTHKa TpaKTHKa arrecTanus ast (UTorosast) rocy1apcTBeH
(o npodusnro (mpeIMIIoMHast ) arTecTalus HOH (MTOTrOBOM)
CreLHaIbHOCTH) arTecTaluu
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